3765 Piece G8 FT Bin Kit w/40 Hole Bin

Box A |Box B [Total

Hex Cap Screws
1/4-28 x 3/4 Hex Cap Screw 50 50
1/4-28 x 1 Hex Cap Screw 50 50
1/4-28 x 1-1/2 Hex Cap Screw 25 25 50
1/4-28 x 2 Hex Cap Screw 25 25
1/4-28 x 2-1/2 Hex Cap Screw 25 25
5/16-24 x 3/4 Hex Cap Screw 50 50
5/16-24 x 1 Hex Cap Screw 50 50
5/16-24 x 1-1/2 Hex Cap Screw 25 25
5/16-24 x 2 Hex Cap Screw 25 25
5/16-24 x 2-1/2 Hex Cap Screw 25 25
3/8-24 x 3/4 Hex Cap Screw 50 50
3/8-24 x 1 Hex Cap Screw 25 25 50
3/8-24 x 1-1/2 Hex Cap Screw 25 25 50
3/8-24 x 2 Hex Cap Screw 25 25
3/8-24 x 2-1/2 Hex Cap Screw 25 25
7/16-20 x 1 Hex Cap Screw 10 10 20
7/16-20 x 1-1/2 Hex Cap Screw 10 10 20
7/16-20 x 2 Hex Cap Screw 10 10 20
7/16-20 x 2-1/2 Hex Cap Screw 20 20
7/16-20 x 3 Hex Cap Screw 15 15
1/2-20 x 1 Hex Cap Screw 20 20
1/2-20 x 1-1/2 Hex Cap Screw 10 10 20
1/2-20 x 2 Hex Cap Screw 10 10 20
1/2-20 x 2-1/2 Hex Cap Screw 10 10 20
1/2-20 x 3 Hex Cap Screw 15 15
Hex Nuts
1/4-20 Hex Nut 300 300
5/16-18 Hex Nut 150 150 300
3/8-24 Hex Nut 100 100 200
7/16-20 Hex Nut 50 50 100
1/2-20 Hex Nut 50 50 100
Flat Washers
1/4 Flat Washer 300 300
5/16 Flat Washer 150 150 300
3/8 Flat Washer 100 100 200
7/16 Flat Washer 50 50 100
1/2 Flat Washer 50 50 100
Lock Washers
1/4 Lock Washer 300 300
5/16 Lock Washer 150 150 300
3/8 Lock Washer 100 100 200
7/16 Lock Washer 50 50 100
1/2 Lock Washer 50 50 100

2510 1255 3765




Labels

40 Hole Bin




